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QUESTION 1

When creating an OCI Vault, which factors may lead to select the Virtual Private Vault? Select TWO correct answers
A. Need for more than 9211 key versions

B. Greater degree of isolation

C. To mask PIl data for non-production environment

D. Ability to back up the vault

Correct Answer: BD
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QUESTION 2

What must be configured for a load balancer to accept incoming traffic?
A. Service Gateway

B. SSL certificate

C. Listener

D. Route table entry pointing to the listener IP address

Correct Answer: C

A listener is an entity that checks for connection requests. The load balancerlistener listens for ingress client traffic using
the port you specify within the listener and the load balancer\\'s public IP.
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https://docs.oracle.com/en-us/iaas/Content/ GSG/Tasks/loadbalancing.htm To create a listener:
On your Load Balancer Details page, click Listeners.

Click Create Listener.

Enter the following:

Click Create.

QUESTION 3

On which option do you set Oracle Cloud Infrastructure Budget?
A. Compartments

B. Instances

C. Free-form tags

D. Tenancy

Correct Answer: A

How Budgets Work

Budgets are set on cost-tracking tags or on compartments (including theroot compartment) to track all spending in that
cost-tracking tag or for that compartment and its children.

https://docs.oracle.com/en-us/iaas/Content/Billing/Concepts/budgetsoverview.htm

QUESTION 4

Which Cloud Guard component identifies issues with resources or user actions and alerts you when an issue is found?
A. Problems

B. Targets

C. Detectors

D. Responders

Correct Answer: C

Detector Performs checks to identify potential security problems based on activities or configurations. Rules followed to

identify problems are the same for allcompartments in a target. https://docs.oracle.com/en-us/iaas/cloud-
guard/using/part-start.ntm

QUESTION 5
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Which Oracle Cloud Service provides restricted accessto target resources?
A. Bastion

B. Internet Gateway

C. Load balancer

D. SSL certificate

Correct Answer: A

Bastion

Oracle Cloud Infrastructure Bastion provides restricted and time-limited access to target resources that don\\'t have
public endpoints.

Oracle Cloud Infrastructure (Region)
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https://docs.oracle.com/en-us/iaas/Content/Security/Concepts/security _features.htm
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